Grade 6 Mathematics Algebra - Order of Operations

Order of Operations

[
S+8=-(1+1)

12-3x2+(5-3)

Step 1. Brackets.
o+8=+(1+1)

S+8=2

Step 1. Brackets.
12-3x2+(5-3)

12-3x2+2

Step 2. Exponents.
There are no exponents.

Step 2. Exponents.
There are no exponents.

Step 3. Division or
multiplication.

S5S+8+2
S>+H4

Step 3. Division or
multiplication.

12-3x2+2
12-6+2

Step U. Addition or subtraction.
S+H4

Step U. Addition or subtraction.
12-6+2

9 6+2=8

Answer Answer

5+8=+(1+1)=19 12-3x2+(5-3)=8
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